Points:

1) Power transmission from the Cape to the Island may be unreliable and may be subject to long or short term interruptions because:


a) Cape Transmission infrastructure is unreliable due to age and because it is cobbled together


b) Transmission to the island originates from a single transmission point on the Cape

2) It is possible that power is being transmitted below the standard voltage and may be being reduced for the following reasons:


a) Unreliable or inadequate load carrying capacity on the Cape


b) Reduced undersea cable load carrying capacity due to the age of one of the cables and/or injuries to all cables


c) Island transmission line infrastructure may not be able to handle standard loads

3) The Island transmission line infrastructure may be unable to handle standard loads for the following reasons:


a) Transmission line age


b) Transmission line structure is a patchwork of non-structured line layouts because it was “built-as-needed” 

Current evidence supports the conclusion that NSTAR does not have a written plan for partial or complete failure of the transmission system. It would appear that they operate on the principle of “solve the problem when it occurs” and the solution is to cobble something together on the spur of the moment.

The solution to a current shortfall, caused by a blown transformer on the 

Cape, is to attach two generating trailers to the line at the Tisbury dump. This solution provides some additional capacity to a current shortfall.  It is unclear how much generating capacity would be required to alleviate a complete breakdown of power transmission.

==============================================================

Possible Consequences of a complete transmission failure, from a DPW perspective:

:

